“PTTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 63

N -

£ A Jandy valve for every application.

i

Jandy NeverLube Valve Jandy Valve

* Multiple Diameter = Multiple Diameter
Port Design Port Design

& 2-Port = Space Saver™

* J-Port * 2-Paort

= O = 3-Port

* Positive Seal * S

= MNon-positive Seal = Positive Sea

= Mon-positive 2ea

Jandy Gold Standard Jandy Check Valve
Ball Valves & Multiple Diameter

* Linion Port Design

& Mon-Linion * Straight=through

= fyailable in 3f4" - 47 Swing Check Valve

= 900 Swing Check Walwe




Page 64 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog
Jandy Valves ® & Space Saver Valves

PART PART

NO. DESCRIPTION NO. DESCRIPTION

3 PORT VALVES

1154 VALVE 3 PORT 1 1/2"- 2" CPVC

2875 VALVE 3 PORT 2" -2 1/2" CPVC POSITIVE SEAL

2877 VALVE 3 PORT 2" - 2 1/2" CPVC NON-POSITIVE SEAL

3186 VALVE 3 PORT 1 1/2" - 2" CPVC B23 (INTERNAL &
EXTERNAL STOP VALVE)

3189 VALVE 3 PORT 2" -2 1/2" CPVC B23 (INTERNAL &
EXTERNAL STOP VALVE)

3344 VALVE 3 PORT 1 1/2" - 2" CPVC NON-POSITIVE SEAL

3406 VALVE 3 PORT 1 1/2" - 2" CPVC SPACE SAVER
POSITIVE SEAL

3408 VALVE 3 PORT 1 1/2" - 2" CPVC SPACE SAVER NON-
POSITIVE SEAL

2 PORT VALVES

157 VALVE 2 PORT 1 1/2" - 2" CPVC POSITIVE SEAL

2220 VALVE 2 PORT 1 1/2" - 2" CPVC NON-POSITIVE SEAL

2876 VALVE 2 PORT 2" - 2 1/2" CPVC POSITIVE SEAL

3407 VALVE 2 PORT 1" 1/2 - 2" CPVC SPACE SAVER POSITIVE SEAL
A3

3409 VALVE 2 PORT 1 1/2" - 2" CPVC SPACE SAVER NON-POSITIVE
SEAL A3

90° 2 PORT VALVES

4367 2 PORT 90° 1 1/2" - 2" CPVC POSITIVE SEAL
4369 2 PORT 90° 2" - 2 1/2" CPVC POSITIVE SEAL
4371 2 PORT 90° 1 1/2" - 2" SPACE SAVER POSITIVE SEAL

NEVER LUBE® VALVES 3 PORT/2 PORT (Positive Seal Only)

4715 NEVER LUBE® VALVE 3 PORT 1 1/2" - 2"

4716 NEVER LUBE® VALVE 2 PORT 2" -2 1/2"

4717 NEVER LUBE® VALVE 3 PORT 2" -2 1/2"

4724 NEVER LUBE® VALVE 2 PORT 1 1/2" - 2"

4944 NEVER LUBE® VALVE 3 PORT 2" -2 1/2" B23 (INTERNAL &
EXTERNAL STOP VALVE)

4945 NEVER LUBE® VALVE 3 PORT 1 1/2" - 2" B23 (INTERNAL &
EXTERNAL STOP VALVE)

VALVE PARTS 1-11/2"& 2 -2 1/2" NEVER LUBE ®

132 O-RING 151 VALVE COVER
1298 SCREW #14 X 3/4" VALVE HOUSING
1307 O RING 116 VALVE SHAFT

4603 KNOB (ABS) (BLACK)

4606 COVER 3 PORT (BLACK)

4720 NEVER LUBE® DIVERTER KIT

4727 HOUSING 1 1/2" - 2" 2 PORT (BLACK)
4728 HOUSING 1 1/2" - 2" 3 PORT (BLACK)
4729 HOUSING 2" - 2 1/2" 2 PORT (BLACK)
4730 HOUSING 2" - 2 1/2" 3 PORT (BLACK)
4733 HANDLE NEVER LUBE® (BLACK)

4734 COVER 2 PORT (BLACK)

5009 PIPE PLUG P-18 (INCLUDED W/ #4720)

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928

VALVE PARTS 1-11/2"&2-21/2"

1132 O-RING 151 VALVE COVER

1298 SCREW #14 X 3/4" VALVE HOUSING

1301 HANDLE (GRAY)

1303 COVER 3 PORT

1304 COVER 2 PORT

1307 O-RING 116 VALVE SHAFT

1312 HOUSING 1 1/2" 2" 3 PORT

1313 HOUSING 1 1/2" - 2" 2 PORT

2133 GREASE CUP KIT

2625 COVER DOME W/BOTTOM STOPS (If ordered for JVA remove
stops)

2873 HOUSING 2" - 2 1/2" 3 PORT

2874 HOUSING 2" - 2 1/2" 2 PORT

3042 KNOB (ABS)

3044 DIVERTER ASSEMBLY COMPLETE W/KNOB POSITIVE SEAL t
USE #4720

3045 DIVERTER ASSEMBLY COMPLETE W/KNOB NON-POSITIVE
SEAL

4368 HOUSING 90° 1 1/2" - 2"

4370 HOUSING 90° 2" - 2 1/2"

VALVE PARTS / SPACE SAVER

1298 SCREW #14 X 3/4" VALVE HOUSING

1307 O-RING 116 VALVE SHAFT

3042 KNOB (ABS)

6749 O-RING SSV 143

3414 HOUSING SSV 3 PORT

3415 HOUSING SSV 2 PORT

3490 COVER 3 PORT

3417 COVER 2 PORT

3457 DIVERTER SEAL RING

3483 DIVERTER ASSEMBLY COMPLETE W/ KNOB POSITIVE SEAL

3484 DIVERTER ASSEMBLY COMPLETE W/ KNOB NON-POSITIVE
SEAL

3500 SPACE SAVER VALVE HANDLE

4269 JANDY LUBE 3 OZ. TUBE (12 PACK ONLY)

4372 SPACE SAVER VALVE 90° 1 1/2"- 2"

T Not sold

Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237

Pool Systems Address:
Web Address: http://www.jandy.com/

21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101

International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



“PTTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 65

Jandy Never Lube ®

Our patented Never Lube® valve is the most trusted valve
in the industry. It never needs lubrication and is totally
maintenance free. The Never Lube® has an easy to turn
and set handle and will never crack, melt, lose pressure, or
slip — even under a working pressure of 70 psi. Plus, its
rounded bottom prevents the diverter from being glued into
place. And, it's guaranteed for life — the only valve to offer
such assurance.

1 2
N l

JANDY 3 PORT NEVER LUBE ® VALVE

Part # Description

4717 2"-2 1/2" POSITIVE SEAL, COMPLETE VALVE

4715 11/2"-2"POSITIVE SEAL, COMPLETE VALVE

4944 2"-2 1/2" POSITIVE SEAL, COMPLETE (INTERNAL & EXTERNAL
STOPS) B23

4945 11/2"-2"POSITIVE SEAL, COMPLETE (INTERNAL & EXTERNAL
STOPS) B23

Drawing

Number Part # Description

1 1298 SCREW #14 X 3/4" VALVE HOUSING
2 4603 KNOB (ABS) (BLACK)

3 4733 HANDLE NEVER LUBE® (BLACK)

4 4606 COVER 3 PORT (BLACK)

5 1132 O-RING 151 VALVE COVER

6 1307 O-RING 116 VALVE SHAFT

7 4728 HOUSING 1 1/2" - 2" 3 PORT (BLACK)
or 4730 HOUSING 2" - 2 1/2" 3 PORT (BLACK)
8 4720 NEVER LUBE® DIVERTER KIT

JANDY 2 PORT NEVER LUBE ® VALVE

Part # Description

4716 2"-2 1/2" POSITIVE SEAL COMPLETE VALVE
4724 11/2"-2"POSITIVE SEAL COMPLETE VALVE
Drawing

Number Part # Description

1 1298 SCREW #14 X 3/4" VALVE HOUSING

2 4603 KNOB (ABS) (BLACK)

3 4733 HANDLE NEVER LUBE® (BLACK)

4 4734 COVER 2 PORT (BLACK)

5 1132 O-RING 151 VALVE COVER

6 1307 O-RING 116 VALVE SHAFT

7 4727 HOUSING 1 1/2" - 2" 2 PORT (BLACK)
or 4729 HOUSING 2" - 2 1/2" 2 PORT (BLACK)
8 4720 NEVER LUBE® DIVERTER KIT

Applies to Jandy NEVER LUBE ®

Valves Only



Page 66 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog

Jandy Valve ©

Our workhorse diverter valve is as tough as the Never Lube®, and
requires no disassembly for lubrication. It comes with a one-year
warranty and a 15-year track record of proven reliability.

JANDY 3 PORT VALVE

Part # Description

1154 VALVE 3 PORT 1 1/2"- 2" POSITIVE SEAL, COMPLETE VALVE
3186 VALVE 3 PORT 1 1/2" - 2" POSITIVE SEAL, COMPLETE(INTERNAL
& EXTERNAL STOP VALVE)
3189 VALVE 3 PORT 2" -2 1/2" POSITIVE SEAL, COMPLETE (INTERNAL
& EXTERNAL STOP VALVE)
3344 VALVE 3 PORT 1 1/2"- 2" NON-POSITIVE SEAL, COMPLETE VALVE
2875 VALVE 3 PORT 2"-2 1/2" POSITIVE SEAL, COMPLETE VALVE
2877 VALVE 3 PORT 2"-2 1/2" NON-POSITIVE SEAL, COMPLETE VALVE
Drawing
Number Part # Description
1 1298 SCREW #14 X 3/4" VALVE HOUSING
2 3042 KNOB (ABS)
3 1301 HANDLE (GRAY)
4 1303 COVER 3 PORT
5 1132 O-RING 151 VALVE COVER
6 1307 O-RING 116 VALVE SHAFT
7 1312 HOUSING 1 1/2" - 2" 3 PORT
or 2873 HOUSING 2" - 2 1/2" 3 PORT
8 2133 GREASE CUP®
9 4720 NEVER LUBE™ DIVERTER KIT
or 3045 DIVERTER ASSEMBLY COMPLETE
W/KNOB NON-POSITIVE SEAL
10 5009 PIPE PLUG P-18

Diverter Assembly Complete w/ Knob
(NEVER LUBE® and Non-Positive) 9

Part #s 4720, 3045

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101
Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



“PTTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 67

Jandy Valve ©

Our workhorse diverter valve is as tough as the Never Lube®, and
requires no disassembly for lubrication. It comes with a one-year
warranty and a 15-year track record of proven reliability.

1 2 JANDY 2 PORT VALVE
Part # Description
<> 1157 VALVE 2 PORT 1 1/2" - 2" POSITIVE SEAL, COMPLETE VALVE
3 2876 VALVE 2 PORT 2"- 2 1/2" POSITIVE SEAL, COMPLETE VALVE
AN 2220 VALVE 2 PORT 1 1/2" - 2" NON-POSITIVE SEAL, COMPLETE VALVE
,//*é§>
\ Drawing
. Number_Part # Description
1 1298 SCREW #14 X 3/4" VALVE HOUSING
2 3042 KNOB (ABS)
3 1301 HANDLE (GRAY)
4 1304 COVER 2 PORT
5 1132 O-RING 151 VALVE COVER
6 1307 O-RING 116 VALVE SHAFT
7 1313 HOUSING, 1 1/2" - 2" 2 PORT
or 2874 HOUSING 2" - 2 1/2" 2 PORT
8 2133 GREASE CUP®
9 4720 NEVER LUBE" DIVERTER KIT
or 3045 DIVERTER ASSEMBLY COMPLETE
W/KNOB NON-POSITIVE SEAL
10 5009 PIPE PLUG P-18

Diverter Assembly Complete w/ Knob
(NEVER LUBE® and Non-Positive) 9
Part #s 4720, 3045

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101
Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



Page 68 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog

Jandy Valve ©

Our workhorse diverter valve is as tough as the Never Lube®, and
requires no disassembly for lubrication. It comes with a one-year
warranty and a 15-year track record of proven reliability.

JANDY 3 PORT SPACE SAVER VALVE

Part # Description

3408 SPACE SAVER VALVE 3 PORT 1 1/2" - 2" CPVC NON-POSITIVE
SEAL, COMPLETE VALVE

3406 SPACE SAVER VALVE 3 PORT 1 1/2"- 2" CPVC POSITIVE SEAL,
COMPLETE VALVE

Drawing

Number Part # Description

1 1298 SCREW #14 X 3/4" VALVE HOUSING

2 3042 KNOB (ABS)

3 3500 SPACE SAVER VALVE HANDLE

4 3490 COVER 3 PORT

5 6749 O-RING SSV 143

6 1307 O-RING 116 VALVE SHAFT

7 3457 DIVERTER SEAL RING

8 3414 SPACE SAVER VALVE HOUSING 3 PORT

9 3483 DIVERTER ASSEMBLY COMPLETE

W/ KNOB POSITIVE SEAL
or 3484 DIVERTER ASSEMBLY COMPLETE

W/ KNOB NON-POSITIVE SEAL

Diverter Assembly Complete w/ Knob

Part #'s 3483, 3484 9
(Positive and Non-Positive)

For more information:

Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101
Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



“PTTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 69

Jandy Valve ©

Our workhorse diverter valve is as tough as the Never Lube®, and
requires no disassembly for lubrication. It comes with a one-year
warranty and a 15-year track record of proven reliability.

JANDY 2 PORT SPACE SAVER VALVE

Part # Description

3409 SPACE SAVER VALVE 2 PORT 1 1/2" - 2" CPVC NON-POSITIVE
SEAL, COMPLETE VALVE

3407 SPACE SAVER VALVE 2 PORT 1 1/2" - 2" CPVC POSITIVE SEAL,
COMPLETE VALVE

Drawing

Number Part # Description

1 1298 SCREW #14 X 3/4" VALVE HOUSING

2 3042 KNOB (ABS)

3 3500 SPACE SAVER VALVE HANDLE

4 3417 COVER 2 PORT

5 6749 O-RING SPACE SAVER VALVE 143

6 1307 O-RING 116 VALVE SHAFT

7 3457 DIVERTER SEAL RING

8 3415 SPACE SAVER VALVE HOUSING 2 PORT

9 3483 DIVERTER ASSEMBLY COMPLETE

W/ KNOB POSITIVE SEAL
or 3484 DIVERTER ASSEMBLY COMPLETE

W/ KNOB NON-POSITIVE SEAL

Diverter Assembly Complete w/ Knob

Part #'s 3483, 3484 9
(Positive and Non-Positive)

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101
Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



Page 70 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog

Jandy Valve ©

Our workhorse diverter valve is as tough as the Never Lube®, and
requires no disassembly for lubrication. It comes with a one-year
warranty and a 15-year track record of proven reliability.

JANDY 90° VALVE

Part # Description

4367 VALVE 2 PORT 90° 1 1/2" - 2" POSITIVE SEAL,
COMPLETE VALVE

4369 VALVE 2 PORT 90° 2" - 2 1/2" POSITIVE SEAL,
COMPLETE VALVE

Drawing

Number Part # Description

1 1298 SCREW #14 X 3/4" VALVE HOUSING

2 3042 KNOB (ABS)

3 1301 HANDLE (GRAY)

4 1303 COVER 3 PORT

5 1132 O-RING 151 VALVE COVER

6 1307 O-RING 116 VALVE SHAFT

7 4368 HOUSING 90° 1 1/2" - 2"

or 4370 HOUSING 90° 2" - 2 1/2"

8 2133 GREASE CUP@(IT

9 4720 NEVER LUBE "~ DIVERTER KIT

”n
o
=
]
>

11/2"-2"90 DEGREE SPACE SAVER VALVE

Part # Description

4371 SPACE SAVER VALVE 2 PORT 90 ° 1 1/2" - 2" POSITIVE SEAL,
COMPLETE VALVE

Drawing
Number Part #

1 1298 SCREW #14 X 3/4" VALVE HOUSING
2 3042 KNOB (ABS)

3 3500 SPACE SAVER VALVE HANDLE

4 3490 COVER 3 PORT

5 6749 O-RING SPACE SAVER VALVE 143

6 1307 O-RING 116 VALVE SHAFT

7 4372 SPACE SAVER VALVE 90° 1 1/2" - 2" HOUSING

8 3483 DIVERTER ASSEMBLY COMPLETE W/ KNOB POSITIVE

SEAL



“/TTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 71
Jandy Spa Valves and Fittings

PART PART
NO. DESCRIPTION NO. DESCRIPTION
SPA VALVES KNOB EXTENSIONKITS
2894 SPA KNOB EXTENSION SHAFT 30"
2219 VALVE 3 PORT 1 1/2" - 2" CPVC NON-POSITIVE SEAL 3259 SPA U-JOINT COMPLETE
3353 VALVE 3 PORT 2" - 2 1/2" CPVC NON-POSITIVE SEAL 3287 SPA SEAL RING KIT
5046 NEVER LUBE® SPA VALVE 3 PORT 1 1/2"- 2" C3 3303 SPA KNOB KIT TRI W/CAP (CHROME)
5051 NEVER LUBE® SPA VALVE 3 PORT 11/2"-2"B 3308 SPA KNOB KIT ROUND W/CAP (CHROME)
5052 NEVER LUBE® SPA VALVE 3 PORT 2"-2 1/2"B 3311 SPA KNOB KIT ROUND W/CAP (SLATE)
5392 NEVER LUBE® SPA VALVE 3 PORT 1 1/2" - 2" B23 3312 SPA KNOB KIT ROUND W/CAP (WHITE)
3318 SPA VALVE CAP KIT

SPA VALVE PARTS JANDY ENERGY FILTER WITH GAUGE

130 O-RING 151 VALVE COVER 1154 VALVE 3-PORT 1 1/2" - 2" CPVC POSITIVE SEAL
1208 SCREW #14 X 3/4" VALVE HOUSING 2612 JANDY FILTER TOP W/ADAPTER
1303 COVER 3 PORT 2870 PRESSURE GAUGE 0-60 P.S.I. 1/8"
1307 O RING 116 VALVE SHAFT 2887 JANDY FILTER W/GAUGE & VALVE
2624 VALVE HOUSING 1 1/2" - 2" 3 PORT 2888 JANDY FILTER W/IGAUGE
5087 VALVE HOUSING 2" - 2 1/2° 3 PORT 3101 JANDY FILTER BOWL W/O-RING
045 DIVERTER ASSEMBLY NON-POSITIVE 3203 JANDY FILTER O-RING REPLACEMENT KIT
SEAL & KNOB 3301 JANDY FILTER ELEMENT POLY PRO
4720 DIVERTER ASSEMBLY KIT NEVER LUBE®
5053 SPA MOUNTING KIT LONG (WHITE)
5054 SPA MOUNTING KIT STANDARD (WHITE)
SPACE SAVER SPA VALVES
VARIOUS VALVE 3 PORT CPVC SPACE SAVER
3550 SPACE SAVER VALVE 4 PORT 1 1/2" - 2" CPVC NON-
POSITIVE SEAL (SINGLE)
3551 SPACE SAVER VALVE 4 PORT 1 1/2" - 2" CPVC NON-
POSITIVE SEAL (DOUBLE)
3656 SPACE SAVER VALVE 3 PORT "T" 1 1/2" - 2" CPVC NON-
POSITIVE SEAL
SPACE SAVER SPA VALVE PARTS
1208 SCREW #14 X 3/4" VALVE HOUSING
1307 O-RING 116 VALVE SHAFT
2804 SPA KNOB EXTENSION SHAFT 30"
6749 O-RING 143
3414 SPACE SAVER WWALVE HOUSING 3 PORT
3426 COVER 3/2 PORT SPACE SAVER VALVE W/BOTTOM STOPS
3442 MOUNTING BRACKET KIT STANDARD (WHITE)
3443 MOUNTING BRACKET KIT LONG (WHITE)
3457 DIVERTER SEAL RING
3480 MOUNTING BRACKET KIT LONG (BLACK)
3481 MOUNTING BRACKET KIT STANDARD (BLACK)
3484 DIVERTER ASSEMBLY COMPLETE
3546 COVER 4 PORT "T"
3547 HOUSING 4 PORT
3548 DIVERTER 4 PORT SINGLE
3549 DIVERTER 3 PORT & 4 PORT DOUBLE
3660 HOUSING 3 PORT "T"

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101
Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



Page 72 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog

JANDY SPA VALVE
AND KNOB EXTENSIONKITS

PARTS IDENTIFICATION AND SCHEMATIC DRAWING

Drawing

Number Part # Description

1 VARIOUS DECORATOR HANDLE

2,3 3287 SPA SEAL RING KIT

4,5 3259 SPA U-JOINT COMPLETE

6 2894 SPA KNOB EXTENSION SHAFT 30"

7 3318 SPAVALVE CAPKIT

8 2219 SPA VALVE 3 PORT 1 1/2" - 2" CPVC NON-POSITIVE SEAL
8 3353 SPA VALVE 3 PORT 2" - 2 1/2" CPVC NON-POSITIVE SEAL

Spa Shell

o Schedule 40

Standard |W|
1%" T-8
Couple
JANDY SPACE SAVER VALVE / e

MOUNTING BRACKET KIT . ‘ = =
PVCPipe and couplings
PARTS IDENTIFICATION AND SCHEMATIC DRAWING nots upplied.
- \ 3
Drawing
Number  Part # Description
1 VARIOUS  DECORATOR HANDLE
2a&?2b 3480 MOUNTING BRACKET KIT LONG (BLACK)
2a&?2b 3443 MOUNTING BRACKET KIT LONG (WHITE)
2a&2b 3481 MOUNTING BRACKET KIT STANDARD (BLACK)
2a&?2b 3442 MOUNTING BRACKET KIT STANDARD (WHITE)
3 2894 SPA KNOB EXTENSION SHAFT 30"
4 3429 SPACE SAVER SPA VALVE 3 PORT
NON-POSITIVE SEAL, SET B23
4 3551 SPACE SAVER VALVE 4 PORT 1 1/2" - 2" CPVC
NON-POSITIVE SEAL (DOUBLE)
4 3550 SPACE SAVER VALVE 4 PORT 1 1/2" - 2" CPVC
NON-POSITIVE SEAL (SINGLE)
4 3656 SPACE SAVER VALVE 3 PORT "T" 1 1/2" - 2" CPVC

NON-POSITIVE SEAL

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101
Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



“PTTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 73

JANDY 3 PORT "T" SPACE SAVER SPA VALVE

Non-Positive Seal Only

Part # Description

3656 SPACE SAVER VALVE 3 PORT "T"1 1/2" - 2" CPVC NON-POSITIVE
SEAL, COMPLETE VALVE

Drawing

Number Part # Description

1 VARIOUS DECORATOR HANDLE

2 2894 SPA KNOB EXTENSION SHAFT 30"
3 1298 SCREW #14 X 3/4" VALVE HOUSING
4 3546 COVER 4 PORT "T"

5 1307 O RING 116 VALVE SHAFT

6 3457 DIVERTER SEAL RING

7 6749 O-RING SPACE SAVER VALVE 143

8 3549 DIVERTER 3 PORT & 4 PORT DOUBLE
9 3660 HOUSING 3 PORT "T"

JANDY 4 PORT SPACE SAVER SPA VALVE

Non-Positive Seal Only

Part # Description

3550 SPACE SAVER VALVE 4 PORT 1 1/2" - 2" CPVC NON-POSITIVE

SEAL (SINGLE), COMPLETE VALVE l

DTIITT
3551 SPACE SAVER VALVE 4 PORT 1 1/2" - 2" CPVC NON-POSITIVE
SEAL (DOUBLE), COMPLETE VALVE
Drawing ‘ ...““ ’
Number Part # Description ‘
P l‘l?\é

VARIOUS DECORATOR HANDLE
2894 SPA KNOB EXTENSION SHAFT 30"
1298 SCREW #14 X 3/4" VALVE HOUSING

1

2

3

4 3546 COVER 4 PORT "T"

5 1307 O-RING 116 VALVE SHAFT

6 3457 DIVERTER SEAL RING

7 6749 O-RING SPACE SAVER VALVE 143

8 3548 DIVERTER 4 PORT SINGLE

or 3549 DIVERTER 3 PORT & 4 PORT DOUBLE
9 3547 HOUSING 4 PORT



Page 74 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog

Jandy Gold Standard™ Ball Valve

For simple on/off applications, Jandy Ball Valves offer an inexpen-
sive, yet high quality choice. The Jandy Ball Valve is also the only
ball valve with a 2-year guarantee. The Union Ball valve can be
disassembled for service.

Jandy Ball Valves

PART
NO. DESCRIPTION
STANDARD UNION BALL VALVE
BALL VALVES Part #6955, 6957
6955 BALL VALVE 1 1/2" UNION
6957 BALL VALVE 2" UNION
7515 BALL VALVE 3" NON UNION
7516 BALL VALVE 4" NON UNION

STANDARD NON UNION BALL VALVE
Part #6952, 6953, 6954, 6956

PART
NO. DESCRIPTION

NON UNION BALL VALVES
6952 BALL VALVE 3/4" STANDARD NON UNION
6953 BALL VALVE 1" STANDARD NON UNION
6954 BALL VALVE 1 1/2" STANDARD NON UNION
6956 BALL VALVE 2" STANDARD NON UNION

For more information:
Telephone: Main: (415)382-8220 Order Fax: (800)526-3928
Customer Service: Ext. 245 Warranty/Service: Ext. 260 Literature Requests: Ext. 237
Pool Systems Address: 21 Pimentel Ct., Novato, CA 94949 Mailing Address: P.O. Box 6101, Novato, CA 94948-6101

Web Address: http://www.jandy.com/
International: 480 S. Service Rd. West, Oakville, Ontario, Canada L6K 2H4 (905)844-8233 voice (905)844-2635 fax



“PTTELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog Page 75

Jandy Check Valves

Our Check Valve’s clear lid and red seal plate let
you easily see and access debris. It's easily
disassembled for service, and features a unique
swing/spring design that lets you use it for both
return and intake water. It's constructed using the
same tough CPVC plastic featured in the NEVER
LUBE®and is available in straight-through and 90°.

Part No. Description

7235 CHECK VALVE 1 1/2" - 2"
7305 CHECK VALVE 2"-21/2"
7511 CHECK VALVE 1 1/2" - 2" 90°
7512 CHECK VALVE 2"-21/2" 90°

ITEM PART

NO. NO. DESCRIPTION
1 4727 HOUSING 1 1/2” - 2" 2 PORT (BLACK)
or 4729 HOUSING 2" - 2 1/2" 3 PORT
4368 HOUSING 90° 1 1/2" - 2"
4370 HOUSING 90° 2" - 2 1/2”
2 7451 FLAPPER ASSEMBLY
3 7304 CHECK VALVE PIN
4 7236 CHECK VALVE COVER
5 1298 #14 x 3/4” VALVE HOUSING SCREWS
6 1132 O-RING 151 VALVE COVER
7 7302 CHECK VALVE SPRING
8 7056 COVER W/ FLAPPER ASSY (INCLUDES
FLAPPER ASSY, PIN, COVER SPRING,
AND O-RING)




Page 76 YT TELEDYNE LAARS/Jandy Products 1999 Products and Parts Catalog
®

Jandy Valve Actuator

The fully adjustable Jandy Valve Actuator® offers a convenient
alternative to manually turning valves, making even the most com-
plex plumbing set-ups easy to use. It works with AquaLink® RS
Control System and is available in both 12 and 24 volt units.

JVA 2440 24V COMPLETE #3791

JVA 1240 12V COMPLETE #4412
JVA 2440 24V COMPLETE #4424

PARTS IDENTIFICATION AND EXPLOSION DRAWING

Drawing
Number Part # Description
?_———?""j 1 ~ ?
1 1325 SCREW #8 X 5/8" ‘ ' ¢ ,’
2 3352 LOCK NUT 1/2" o [
3 3933 HOUSING TOP o :
4 3379 CAM WASHER
5 1846 TOP CAM t SEE KIT #3553
6 1074 SCREW 8.32 X 1/4" PHIL PN 18.8
7 21 CONNECTOR 3 PIN
8 2598 MOTOR 24 VAC
or 4059 MOTOR 12 VAC
9 3946 BOTTOM CAM T SEE KIT #3553
10 3940 O-RING 2-116 t SEE KIT #3553
1 4433 TOGGLE SWITCH COMPLETE
12 4146 MICRO SWITCH COVER (LEFT)
or 4145 MICRO SWITCH COVER (RIGHT)
13 1845 MICRO SWITCH t SEE KIT #3659 OR #2848
14 2901 WASHER # 8 LOCK WASHER
15 3934 CENTER PLATE W/PINS
16 3372 OUTPUT SHAFT THREADED 1 SEE KIT #2848
17 2631 OUTPUT GEAR 1 SEE #2848
18 2848 SHAFT REPLACEMENT KIT
19 2652A WASHER .312 X .195
20 2633 LARGE PINION GEAR
21 2651A WASHER .312 X .135
22 4700 POWER CORD KIT (20 FT.)
23 3935 HOUSING BOTTOM PLASTIC W/SEAL/BUSHING "' 5 6 14 6 14
24 2694 SWITCH GUARD ~——
25 2600 STRAIN RELIEF
26 1848 SPRING t SEE #2848
27 2644 GASKET
28 3553 CAMKIT
29 2577 CAPACITOR 24 V
or 4016 CAPACITOR 12V
30 3999 WIRE NUT W/SPRING
31 4387 SECONDARY MOTOR GEAR
32 4388 PRIMARY GEAR
33 4032 SCREW #8 X 5/8" MOUNTING PLATE 35
34 4725 SCREW #14 X 2"
35 3659 MICRO SWITCH KIT

Shaft Replacement Kit 18
Part #2848

JVA 2440 VALVE ACTUATOR 90° Part #3791
JVA 2440 VALVE ACTUATOR180° Part #4224

JVA 1240 VALVE ACTUATOR 180° Part #4412



